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Trip Thresholds -- Equivalency Table

The Specific Plan EIR has established a threshold of 1,280 peak hour trips as the maximum
number of trips that can be generated from buildout of the Specific Plan without resulting in
a significant impact. So long as a project does not cause the Specific Plan to exceed this
threshold, no further environmental review is required for individual projects. If a project
exceeds this threshold, or creates an impact in an area other than traffic, then additional
environmental review is required.

The Equivalency Table on the next page indicates the quantity of various retail and
commercial land uses that are equivalent in PM peak hour trip generation to 1,000 square
feet of general office use at different levels of office development. This table was developed
based on information contained in the Institute of Transportation Engineers Trip Generation
Manual, 5th Edition. For example, at an office size of 200,000 square feet, each 1,000
square feet of office generates the same number of PM peak hour trips as 210 square feet

of a quality restaurant, or 42 square feet of fast food, or 408 square feet of movie theater
with matinee.
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